2

DIHTEE FIRERARFE

2-4AR%E STEZR

< 1% 4R
CHRIER  SATASERRK
B OB _IT7SATLSEER REEE LHES
B £ 7H£ 48 27H(H) 98005 ~ 138005 -AREHE - LHE
EFRIE EAEMSRARSTES °c STHEER ABRSE
SmAE _& ¥ LHXS
AR60 AP60 F15#E 900 ~ 10:15
5P D K 4 R | 1 3 4 5 6 aE JIE 3L
1- 1]|390223%4|k B £ H|F x5 &K =3 0.0 1
1- 2 0.0 1
1 - 3|46032881|F=<Y F/T|FE £ B | B2 0.0 1
1 4|45031736(% W # 2% =5 K| =3 0.0 1
1 5(45031735|5% H & B|F £& & &3 0.0 1
1- 6(42026583|1% HB B }|FES K B3 0.0 1
1 - 742027235\ & F 3{HALEWHE 0.0 1
1- 8[43028791|%8 H B AN|F =5 K| &1 0.0 1
1 - 9|44028964|m & BlE £ 5 R &1 0.0 1
1 - 10(45030629|H £ [ R|FxH K| &1 0.0 1
0.0 1
- 0.0
ARBOW AP6OW F25F  11.00 ~ 12:15
5HEE K % mE |E®%l 1 3 4 5 6 &it g 45z
2 - 135015022|# H HE W|FH F & 0.0 1
2 - 2(44029868|#h X B axmnammnmn 0.0 1
2 - 3(43028641|% % #E Z(BEBEIER|S1 0.0 1
2 - 4(43028791|H B & F|FxE K &3 0.0 1
2 - 5(46032650|= # # FEEIER|E2 0.0 1
2 — 6(42027003(/h WL F EH|mBESHAZ 0.0 1
2— 7(46032651|% B F Z(EBEIER|S1 0.0 1
2 - 8(39022362|"f & ®M K 0.0 1
2 - 9(46032649|k T F m|BEBENER|S1 0.0 1
2 -10 0.0 1
- 0.0
- 0
ARP60MW
5t EE K 4% mE  |FE 3 4 5 6 &t I 432
1 -1 0.0 1
2 -1
2 -2 0.0
AR EERE #& 7 B5RS
ERE s 9:00 ~ 10:15
E-PEg: 11:00 ~ 12:15

27H

AP
AP

>t



